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‘Saving energy and other resources for
the future without sacrificing people’s
comfort in the present’ is the definition
of which of the following concepts ?
(@) Economic growth

(b) Economic development

(c) Sustainable development

(d) Human development

World Population Day is observed on
(a) 11 July (b) 8 May
(c) 5June (d) 16 October

Which of the following fixes the poverty
line in India ?
(a) Central Council of Ministers
(b) Lok Sabha
(c) Rajya Sabha
(d) Planning Commission
(Now Niti Ayoqg)

Which of the following States ranks first
in India in length of roads ?

(a) Maharashtra

(b) Uttar Pradesh

(c) Madhya Pradesh

(d) Rajasthan

Direct Tax Code in India is related to
which of the following ?

(a) Sales Tax (b) Income Tax
(c) Excise Tax (d) Service Tax

The Headquarters of the ‘Green Peace
International’ is located at

(a) Amsterdam (b) Canberra

(c) Ottawa (d) Nagasaki

ABC Index announced by the
Government of India is associated with
which of the following ?

(a) Agriculture

(b) Communication

(c¢) Health

(d) Education

2.

1.

AN

‘T SHEE % gEi o aieEn e
T3 i ok fore il der o= gl <6
gﬁ’ﬁmﬁﬁaﬁq—ﬁ‘wﬁm
3 7
(a) M=
(b) g

(o) TEITNOY forehE
: ) e fam
mmﬁwﬁaﬂww%
(2) 119@BH  (b) 8T I
(&) 5SH & (d) 16 T !
Srifera ® i W | T i @ i
(2) HEE HATSA
(b) EIF Tl
(c) T=F 8™l
(d) TS SAEA

== 15 JE)
efetEa ~4lﬁﬁq¥1€ﬁﬁﬁmﬂéﬁ
WA T TS TEEH W 7
(b) ST T=
(c) TR
(d) Ts==H
IR 1 YIS 52 SIS Heiaiiad 8 el

(b) ST K
c) IR () T

(a) TEEER | () eI &

) SeErH (d) mTTETeht |
TR S g A T W ge
TfaRed o forod wafga g ?

(a) P

(b) TR
(c) E&TE
(e TrEm
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12.

13.

14.
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According to the UN Department
of Economic and Social Affairs
(UN-DESA) what percentage of world’s
total population is currently living in
urban areas ?

(a) 25

(c) 45

(b) 35
(d) 55

Which among the following is the
secondary pollutant ?

(@) Smog

(b) Carbondioxide

(c) Carbon mono-oxide

(d) Fly ash

In which of the following ecosystems the
Species diversity is relatively higher 2
(@) Deep sea

(b) Tropical rain forest

(c) Coral reefs

(d) Desert

Which of the following is NOT obtained
from insects ?

(@) Silk

(c) Lac

(b) Honey
(d) Pearl

Which of the following represents the
decibel level of rustling of tree leaves
in normal circumstance ?

(@) 10db (b) 20db

(c) 60db (d) 100db

United Nations Conference on climate
change, COP21 was held in

(@) Moscow (b) Paris

(c) Beriin (d) Tokyo

When was India’s first National Action
Plan on Climate Change released ?
(a) 2000 (b) 2008

(c) 2012 (d) 2015

GCTWY - 01

8. ﬁgmw%ﬁ%@w&aﬁmﬁ%

10.

T,

12,

13.

14.

M (UN-DESA) o 317w forea o1 et
ST R aferdie wed e 3
e w7
(a) 25 (b) 35
(c) 45 (d) 55
ﬁtﬁ,%rﬁaaﬁaﬁ?%aﬁassm%?

i) |

(b) FrETERHFRE

(c) FrelT OHY-

(d) w18 U ,
ﬁw%%aqﬁ@%aﬁﬁaﬁ%aﬁwﬁa
%%ammm:mﬁwﬁ?ﬁ%?
(a) TR Ez

(b) 3T weiarefy auf g7

(c) *e %

(d) e
ﬁw%%aﬁﬁqﬁﬁﬁmzﬁam%?
(a) Wm (b) wTEe

(c) g ety it
ﬁw%rﬁgﬁﬁﬁqmtrﬁ@r%ﬁqaﬁ%
gﬂjaﬁmmémwwwﬁhm
(a) 10db 4 20 db

(c) 60 db (d) 100 db
ST NS WY T 7 gy
Copﬁ%n?ﬁagmmmﬁ

(a) (b

(i) At o (d)) it 3
mmﬁqmwﬁgaﬂmw
mmmﬁaaﬁww?

(a) 20007 (b) 2008 %

(c) 2012% (d) 2015%
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16.

17.

18.

19.

20.

A

Which is the most stable ecosystem ?
(@) Marine (ocean)

(b) Forest

(c) Mountain

(d) Desert

Incinerators are used for which of the
following ?

(a) Burning wastes

(b) Putting wastes into them

(c) For cutting green trees

(d) For making fertilizers

What is ‘Green House Effect’?

(a) Increase in global temperature

(b) Decrease in global temperature

(c) Increase in sea water temperature

(d) Increase in temperature of rivers
and lakes

Which of the following is the main
component of the natural gas ?

(a) Ethane

(b) Butane

(c) Carbon mono-oxide

(d) Methane

Which pain killer given to cattle is
responsible for near extinction of
vultures in India ?

(a) Ibuprofen

(b) Acetaminophen

(c) Asprin

(d) Diclofenac

Which of the following countries was the
largest emitter of CO,, in 2015 ?

(a) China (b) U.S.A.

(¢) India (d) France

15.

16.

i

18.

0T 0O 0

T 2 Rer witferfad da m-m e 7
(a) IR (HEETR)

(b) =H

(c) T

(d) HeEgelg

s L2H o1 W fferfas § feass forg
IERIESIGIR-E

(a) = HaU H JoIH & foqw

(b) FZT FIU ! 30 W@ & fou

(c) FLUSI =l e o foruw

(d) T IH % fou

(a7 A A iy
(b) 3fvae a9 T i
(c) EFR S & 9 H ofg

Tr=fafiaa 29 8 SH-91 2015 & w9t

CO, %1 Ic&sieh T 7
(a) == (b) |.7. R
(€ 9rd (d) g
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Which of the following statements are |

true ?
1. Natural disasters cause maximum
damage in developing countries.
2. Bhopal gas tragedy was man-mads.
3. India is a disaster free country.
4. Mangroves reduce the impact of
cyclones.

Select the correct answer from the
codes given below :

Codes :
(@) 1,2and 3 (b) 2,3and 4
(c) 1,2and 4 (d) 1,3and 4

Which of the following has the highest
velocity ?

(a) Cosmic rays

(b) Light

(c) Electron

(d) Supersonic wave

Graphene is

(@) An alloy of carbon

(b) Nano structure of carbon
(c) Isotope of carbon

(d) None of the above

The sound will have highest velocity in
(@ Vacuum (b) Air

(c) Water (d) Steel

A powerful eye irritant in the Smoke is
(a) Ozone

(b) Sulphur dioxide

(c) Carbon dioxide

(d) Peroxyacetyle nitrate

The book ‘A Brief History of Time” has
been written by whom 2

(a) Stephen Hawking

(b) J.V. Narlikar

(c) C.V. Raman
(d) S.Bose

21.

23.

26.

AT S-S Fom ol & 7

1. STeHfcreh STToRTd waiferes sxfer st
<3N o et 8

2. 9T e FrHet TR ot

3. WA Y&~k 291 &

4. IS <ThaTA BT T 9§

e few 2 & @ vt 3w g

¥
(@ 1,293  (b) 2,3du14
(c) 1,29MM4  (d) 1,374

et o frerm 37 arfrepan S 2 7
(a) =H1TETeR fertor
(b) WeRTSl

t0) TR .
(d) weafe T

TEH BT & ’

(a) s =t iy emg
(b) HTEA T ¥ ufgey
(c) =TS T THEATS
(d) IWIh A IS 72

1 =T 377 TR B

() TEfgH (b) amgH

(c) Sl (d) s

91 4 HAfEl A il S e fR-a
IR 3o Brar @ ?
(a) 3N

TS fotelt o1 e A g e
foraefi g ?

(a) BT BT gy
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7. Which of the following is the richest @ %R%’%gﬁ]aﬁl—/ﬁzﬁqc EaEecrege il

source of Vitamin C 7

(b) Apple
(d) Amla

(@) Orange
(c) Carrot

28. Which of the following planets may be
suitable for existence of life ?
(@) Mars (b) Mercury
(c) Venus (d) Jupitor

9. Einstein was award Nobel Prize for of |. 29

his theories

(@) Theory of relativity

(b) Theory of photo electricity
(c) Theory of specific heats
(d) Theory of Brounian motion

30. Which of the following energy Sources
produces NO atmospheric pollution ?
(@) Nuclear energy
(b) Solar energy
(c) Petroleum energy
(d) Coal energy

31. The Directive principles of State Policy
may be classified in 10 which of the
following parts for the sake of convenient
study ?

(a) Socialist

(b) Liberal intellectualistic
(c) Gandhian

(d) Allof the above

32, Which of the following was called
as Economic cabinet of India by
Ashok Chandra ?

(a) Planning Commission

(b) Finance Commission

(c) Central Cabinet

(d) Administrative Reform Commission

(AR

ra?
(@) Fal

(b) &=
(c) TSR T

}ﬁ)’aqﬁ?ﬂ

28., ﬁﬂ%ﬁﬂﬁﬁﬁeﬁaﬁ# e

32, ﬁmﬁﬂﬁ%ﬁaﬁawmwﬁ
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Who was the Chief Justice of India when } 3ﬂ\)qn;ﬁq TR Sae N e Sfa Ry

Public Interest litigation was introduced | =1 e foka 1o 39 T IR & ey
in the Indian Judicial system ? | IR E i

(@) M. Hidayatulllah ¢ (a) . fearggn

(b) A.M. Ahmedi (b) T.uH. 3rEH<t

() P.N.Bhagwati ; Loy 9. . Jadt

(d) A.S.Anand (d) T. T, 7=

¥ |
Who is the author of the book “The [ 34. "Emﬁwmﬁﬁw’waﬁé@ﬁ

Accidental Prime Minister” ? ; — &HmNR?

(a) Rajdeep Sardesai | (a) TSIEY wegrs

(b) Karan Thapar (b) LT g

(c) Kuldeep Nayar | MWW

(d) Sanjaya Baru ) ESEEE

Mention the :f:,"ect date of the last | §< Wﬁﬂﬁﬂﬁﬂmﬁﬁﬂaﬁﬁﬂﬁ
meeting of the Constituent Assembly IGIPEGIFY

of India.

(a) 26 Nov. 1949 (b) 5 Dec. 1048 2679, 1949 (b) 5fem. 1949
() 24 Jan. 1850 (d) 25 Jan. 1950 (c) 24SH. 1950 (d) 253H. 1950
Which of the following CAN NOT be | \g6 TrfaRad o ol w22t fasar st wan
dissolved but abolished ? < T TS Tt ST Hehar © 7

(@) House of Peopie (a) Ry

(b) Council of Siate g 997

(c) Legisiative Assemibiy (c) Toram wa

(d) Legiskative Counc: (d) TIerH ufee

When did the Government of India /3;) WWE’R‘[ ‘g & srefawe %
establish the independent Minis istry for wwmwﬁamw ?
‘Women and Child Development ?

(a) 1985 (b) 1986 /("“/ 1985 (b) 1986

(c) 1987 (d) 1988 (c) 1987 (d) 1988
Whatcanbe the maximum representasion 28 % M # ¥y s a5 = Taiferen
from the Union Territories to the Lok ¥ Tehe T 81 T 2 7

Sabha ? (a) 15

(@) 15

(b) 20 (b) 20

(c) 25 - (c) 25

(d) None of the above (2] ST F I A
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How many teams participated in FIFA
World Cup organised in Russia from
14 June — 15 July 2018 ?
(a) 32 (b) 34
(c) 36 (d) 30

In which of the following countries did
Prime Minister Modi start ‘Ramayana
Circuit’ on May 11, 2018 ?

(a) SriLanka (b) Myanmar

(c) Nepal (d) Indonesia

‘Purvanchal Express Way’ in Uttar
Pradesh will not pass through which of
the following cities ?

(a) Faizabad (b) Basti

(c) Azamgarh (d) Mau

According to United Nation’s E-Government
Index, 2018 India ranks at which place ?
(a) 9oth (b) 95t
(c) 96th (d) 99th

Which of the following States was in the
news for the outbreak of Nipah virus
disease in May-June, 2018 ?

(a) Bihar (b) Kerala

(c) Haryana (d) Guijarat

In which city the Indian National Digital
Library was dedicated to the nation in
June 2018 by Prakash Javadekar ?
(a) Bengaluru (b) Hyderabad

(c) Delhi (d) Chennai

What is the rank of India in the world as
per Global Peace Index (GPI), 2018 ?
(a) 136t (b) 137t
(c) 13sth (d) 134th

9.) 143 & 15 18 2018 T &9 1 AT
EI1 (FIFA) fava &9 3 et Foraet dai 4

g ?
/ﬂm (b) 34

(c) 38 d) 30 -

40. Tr=fefas =i & fra® yum w5t 91t A
11 7% 2018 F1 WV Wiehe 31 YEITT
il ?

(a) siE= (b) r—zmm
(c) T (d) FEHfrEn
. ST Eea e A et
4 form = & = e ?
(a) FmER (b) sl

© F=FE (T

42, TEETLF TN IFF, 2018
SFTER A F BT W 2 7

(a) o0 (b) 957
(c) o673l (d) 99df

43, Tr=f=fas =dl § 9 wE-5 2018 H
o= =72 9 & Y9 & HROT = 8
o1 7
(a) T=m (b) FA
(c) TfEmm (d) TS

44, aTEE TEE TeiNed TR S[7 2018
T g sEest g R TR A U &l
wﬁjmw?
(a) ¥ (b) TS
(c) feeedt (d) =T

45. 3fvae wits g==F (Sifiers), 2018 %
SR fava § aE T FA-AEE R ?
(a) 1364t (b) 137 af
(c) 1384t (d) 134dT
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46. 15" Pravasi Bhartiya Diwas in January

47.

48.

49.

50.

51.

2019 will be held in which city ?
(a) Varanasi (b) Vadodara

(c) Jaipur (d) Pune

From 4™ July 2018 the Minimum Support
Price (MSP) during 2018 — 19 for paddy
per quintal is

(@) Rs.1,550
(c) Rs. 1,750

(b) Rs. 1,650
(d) Rs. 1,950

Who among the following won the
Pakistan’s Parfamentary Elections in July
2018 and became the Prime Minister ?
(@) Nawaz SharF (b) Imran Khan
(c) Bilawal Bhwso(d) Reham Khan

Who among the fo owing won the
Magsaysay Amazrd 2018 ?

(a) Bharat Vatwani

(b) Sonam Wangchui

(c) Both (a) and &

(d) None of the abowe

The 10" ‘BRICS" Summit 2018 was held
in which of the Diliowing countries ?
(a) Braz b) South Africa

(c) Russia d) China

Which of the following is 2 Samhita of
Shukla Yajurveda 2

(b) Maitrayani

(d) Kathak

(@) Vajasanam:
(c) Taittiriya

saﬁ' YT S feaw Sed 2019 1
Torg STt A st B 7
)erfa'rwnxﬂﬁ (b) Fereq#
(c) SagH (d) O
47. 4 YA 2018 & U W Wfl et =

Tafeid g7 (Trwed) 2018 — 19 &
NH B

(a) %. 1,550
(c) %.1,750

(b) %. 1,650
(d) %. 1,950

ﬁmﬁﬁaaﬁﬁaﬁga@zmsﬁw%wq
aﬂﬁm‘\awsﬁmaﬁtmﬂﬁrw?_

(a) AoTS IS ,@m/wm@q
(c) foemEa g (d) Twww

ﬁmﬁ@rﬁmﬁa&zms%ﬁ@ﬁw
Sften ?

(a) WA deamt
(b) FH ST
_e) STE (a) 31K (b)
(d) 3TRE T A 1 7

50. =M fs=d’ (BRICS) Rmaw @i 2018
TreforRaa a3 foret s o 7
(a) ST (b) f&or amrfthenr
(c) ®F (d) ==

51. Frerfeifea & @ % gt ae 6w
27
(a) ALY
(c) awi™

(b) BTOR
(d) FTe®
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52.

53.

54.

A
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Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Turkish invasions on
India were successful.

Reason (R) : There was no political
unity in North India.

Select the correct answer from the
codes given below :

Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(b) Both (A)and (R) are true, but (R) is
not the correct explanation of (A)

(c) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

Arrange the following temples in a
chronological order and select the correct
answer from the codes given below :

|. Brihdishwar temple

Il. Gangaikonda cholapuram temple
ll. Shore temple of Mahabalipuram

IV. ,Sapt pagoda
COGDaf;:éﬁ.%o/jwww.develop1
@ 1, 1, v, 1
by I, 1, 1, IV
(€ I, 1, 1, v
(@ Iv, 1, 1, 1l

The inscription of Hathigumpha is the
source of information about which king ?
(a) Kharvela

(b) Ashok

(c) Harshavardhan

<.
ju/m (A) T T (R) ST TS
At

| frm o =1 A  safed i

ndiagroup.co.in/

. i aifiere fore T o fa

(d) Kanishka
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|

HUF (A) : TR T AT TRA L
T (R) : T A B TS 7o Tohdll T8l ';

o |
413 o et 1 A ) SR ] = I |

(R) e (A) 1 TE AT &

(b) = (A) TITHRY (R) 3HI e &Y
FTOT (R) Y (A) 51 I TE 8

(©) T (A) 9 B, Tohg 7001 (R) T ® I
(d) T (A) T B, Torg T (R) TR ® 8

S 5= R el 3 ¥ ol ST |
I, TS STy i

Il e A Hiet i
Iv. T TrEr

@ 1, 1, v, 1 H
by 1, 1, ll, IV |
© H, I, 1, IV
() 1v, 1, 1,

o SR o Ea B 7
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55.

56.

57.

58.

Given below are two statements :

labelled as Assertion (A) and the ofer
as Reason (R).

Assertion (A) : In 1946, the Mus —
League withdrew its acceptance of e
Cabinet Mission Plan.

Reason (R) : The Muslim League
joined the interim government formec
in 1946.

Select the correct answer from e

codes given below :

Codes :

(@) Both (A) and (R) are true arc
is the correct explanation of (A

(b) Both (A)and (R) are true, b =
not the correct explanation of

(c) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

&

Which among the followin

provigdes evidence of domesication of

(@) Odai D) Bon

(c) Bagor d) L=z

Which of the following pairs = NOT | 57
correctly matched ?

(@) Adina Masjid — Mandu

(b) Lal Darwaza Masjid — Jaunoos

(c) Dakhil Darwaza — Gaowr

(d) Tin Darwaza - Ahmecztac

N~

Which of the following pzirs = w0 =
correctly matched ? i
(a) Dhruvadas — Bhagzat Namawai
(b) Nabhadas — Bhakizm

(c) Raskhan — Rasik Py
(d) Usman — Chitrawa

I _;\:

(8 5]

GCTWY - 01

F1 a1 e few e E | e e (A) e

ZER 1 FRT (R) Fel T |

FUF (A) : 1946 T gieem i I “Fhe

TR e’ o fore 1 sroelt e lie iy amm

IR

FHOT (R) : 1946 § TfSq 7aim R

= g oft it g8 of |

= feu i 4 8 v s g |

-

(a) YA (A) TATHR (R) ST &1 & qeny
FRT (R) heM (A) I T& A@T R |

b) e (A) T HRUT (R) ST HE & g
FROT (R) e (A) ) I T8 2 |

(c) FH (A) TEl 8, WY HR (R) Tid & |

(d) FRH (A) TieTd &, T HRYT (R) &1 2 |

e 3 @ for Tt gemamr e

= Y] 9T o A7 fired € ?

(a) (b)

(c) FFIR CRSEIER

Ffeiiad g o N ue ghfora Tt R 7
(2) IRl - wig
(b) A ST ARESTE — SR

c) IREATERT - T
(d) o STETST e I
W@a@ﬁﬁﬁquﬁgﬁ%ﬁﬁ%?

a) 99 - YId et
(b) THEE - YHHA

o) THEM - ek e
d) 39M - e

http://www.developindiagroup.co.in/
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59. Arrange the following events in their

60.

61.

62.

(A OER LY A

http://www.developindiagroup.co.in/

chronological order and select the
correct answer from the codes given
below :

A. Hunter Commission

B. Sadlar Commission

C. Wood's Despaich

D. Sargeant Plan

Codes :

(@) A B D C

() C B A D

¢ A B C D
B

d C A D

Who among the following leaders founded
the revolutionary organization — ‘Abhinav
Bharat Society’ ?

(a) Bhagat Singh

(b) Vinayak Damodar Savarkar

(c) Barindra Kumar Ghosh

(d) Pulin Bihari

Which of the following pairs is NOT
correctly matched ?

Rebellion Year
(@) Santhal 1855
(b) Kol 1831
(c) Khasi 1829
(d) Ahom 1815

Which of the following is the highest
waterfall in India ?

(a) Jog fall

(b) Kunchikal fall

(c) Rakim Kund fall

(d) Keviifall

59.

60.

61.

62.

frafafad Teateti &1 FTAHATIER
Safem Fifu s IR 2 W e awd
I F] =E9 FINT |

A. B FAEM

EEEaRCIELIRE]

EEEISEL

(=)
o »
g g0

D
A
C
B

> W w W

c) A
cC
C

w)

A Ed Waﬁﬁ%"ﬂﬁ Qﬁi%%lﬁi‘i‘id'ﬁ.
“a7fiTTs ST GHIST oh! TATIHT i 7

(a) SHGREEE

(b) THATEF TTHIGL HEREH

(c) =T FAR 9N

(d) gre Tormrd

St g A A T gl T @ 7
IEEAES L]

(a) FITH 1855

(b) = 1831

(c) @rHl 1829

(d) ™ 1815

frfafaa § w9 9Rd &1 w6l S
AT E 7

(a) ST STeTyUTd

OIEEENESERIE

(c) THH FHUE TAYITd

(d) Fafc STy

http://www.developindiagroup.co.in/
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63. ‘Vegetation is the true index of climate’.
This statement is associated with
(a) Thornthwaite (b) Koppen
(c) Trewartha (d) Stamp

64. Inwhich of the following countries is the
Pampas grassiands situated ?
(@) Argentina (b) Brazil
(c) Chile (d) Ecuador

65. Which of the following pairs is NOT
correctly matched ?

Desert Country
(a) Sonoran — USA
(b) Taklamakan _ China
(c) Karakum — Turkmenistan

(d) Gibson ~ Brazi

66. Arrange the ol OWing cofiee producing
Countiries in Gescending order of their
coffee producsion (2018 quanity) and
select the correc: answers from the
codes given below -
A. Colombia B.
C. Brazil D.

Codes :

(@) D,C,B, A
(b) C,B, A D
(c) B,D,C, A
(d C,A B, D

Vietnam

Indonesiz

67.  How muchthe maritime distance betweer
India and Europe was reduced afier the
construction of the Suez Canal ?

(@) 5,000 km (b) 7,000 km
(c) 8,000 km (d) 10,000 &m

A http://www.developindiagroup.co.i

G -0
http://www.developindiagroup.cd.1h/Y ~ ¢!

63. ‘aEl STTay o1 T o 2| 9w e
it 2

(a) UHede (b) It
| (c) eyt (d) wy
64, ﬁm%%aéﬁﬁ@%aﬁmwmﬁaa
{ e
(a) 3rSifeer (b) ST
(c) =i=h (d) SHER
| 65. Frerferfiea ot & a9 v g i 2 7
TEEAH L4
(a) HERA - 9.7, e
(b) ARATHRI - =
(c) =UFH - g
(d) fremq - TSfie

66. ﬁw%%amm%ﬁaﬁmm
3T (2016) (WTT) 1 3RS 35 1

mﬁ\%ﬁaﬂtﬁ%ﬁ&n&%ﬁmw
F1 T R |
A. IIfERn B. ferream
C. s D. 3eRfm |
T
(a) D,C, B, A
(b) C,B, A, D
(c) B,D,C, A
(d C,A B,D

67. @am%maﬁ%mwaﬂtgﬁq
T 1 ok g0 3 et e o 2 7
(2) 5,000 64, (b) 7,000 fF.H
(c) 8,000 .1, H)/ 10,000 fa. =,
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68.

69.

70.

Tl

A

Arrange the following Indian Meteorological
Headquarters in Chronological order
of their establishment and select your
correct answer from the codes given
below :

A. New Delhi B. Kolkata
C. Shimla D. Pune
Codes :

(a) C D A B

(b) B A D §:

{c) D B C A

@B C D A

Which of the following statements is

NOT correct ?

(a) Black soil is locally called ‘regur’

(b) According to Krabs the regur soil
is essentially a mature soil

(c) Black soils are highly retentive to
moisture

(d) Black soil is found in Himalayan
region

MacMohan line forms the boundary
between

(@) India and China

(b) India and Pakistan

(c) India and Myanmar

(d) India and Nepal

At the mouth of which of the following
rivers the ‘bird’s foot’ type delta is
formed ?

(a) Huang Ho
(c) Danube

(b) Nile
(d) Mississippi

68.

69.

71.

DO O 000 0

Tfafes Tredta Hem qearer = 33
TATHH] = FHTATIHH | aferq Hifvm ait
= 153 T e 9 o T I H A
HIT |

A. 7% faeett
C. Tmen

A
(a

)
(b)
)
)

B. Shiciadl
D. gui

O O >
> O W

c
d

W o w o0
O W r O

D A

—_

FefEfEg s e g 38 2 7

(a) =it gl ot v e H TR o
SaTE |

(b) =5 % STgar VL i e =
T Tl R BT R |

(c) =1= THE1 1 oTgar (FHY) 9wl
= 3=3 AT eI R |

(d) == T e & B U S R

(c) ¥Rd @ IR & &9

(d) 9T TF 9T o o=

frerferfiaa afet o formes e ot ““uaft &
d@ﬁﬁmﬁﬁamﬁ¥a$m%?

(@) TR (b) Fi=

() <= (d) Frrefifrt
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2.

73.

74.

75.

76.

http://www.developindiagroup.co.in
Natural growth of population is *he 7‘2/‘ WIS o B d 8

outcome of which of the following 2 7 Nufom e
A. Crude Birth Rate ST
B. Crude Death Rate g aq:rﬁrﬁ:mwg
C. Migration ' k!
D. Marriages g Iﬁiél &
Select the correct answer from re | '
codes given below : ﬁqnqw%aﬁwwma?rﬁq
Codes : E T
(@) Only A (b) Only C L2y %A A (b) FawiC
(c) BandD (d) AandB (c) B3R D (d) A3MB
The Human Development Index (=0 73. = 9 9 e g qEg e LI GETED
was first developed by which of the (HDI) Gefweny forerférg T oy 7
following 2
(a) UNDP (a) .S gy
(b) IMF (b) 3TI_§QTI'QEF AR
(c) UNICEF (c) IHEF g
(d) UNCTAD ' T
~ (@) FEeREm

Which of the following is the largest rura! |[ ;D.ﬁtzrﬁq[“@a T 9Rg o TTHIOT USR]
employment programme in India 2 \_.//:*agagTW% ?

(a) MNREGA &) mFam

(b) TRYSEM (b) ZrEEm

(c) Work for food (c) =M % Fet I

(d) Skill Development Programme (d) =wd faem Frfey

Which of the following is measured by S ﬁﬁ%ﬁgﬁﬁaﬁqﬁhaﬁmwmm
the Lorenz curve ? 4 ?

(a) lliteracy 37f31e

(b) Unemployment )(ﬁ)(éﬁaﬂ'rﬁ

(c) Population growth rate (c) Wqﬁ;ﬂt

(d) Inequality of Income (d) A1 hi fasmar

Which of the following States is rankes (ToR\ Freaferfiam et 3 2 sl o & ey
economically at the top but the lowes: \_/ m@mm%mq{m:ﬁ%

on the basis of sex-ratio ? 27

(8) Madhya Pradesh (a) ALY yom
(b) Maharashtra b) HERIE
(¢) West Bengal Efc; gfv=m s

(d) Haryana

http://www.develqmndﬁéfgﬂ”ﬁ.co.in/
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77.

78.

78.

80.

81.

82.

A

Which of the following taxes is levied by

the Gram Panchayats ?
(a) Sales Tax

(b) Land Revenue Tax
(c) Taxon Local Fairs
(d) None of the above

In India which of the following Five Year
Plans was launched with a focus on
sustainable growth ?

(a) oth (b) 1ot

(c) 11t (d) 12th

Which of the following cities in Uttar
Pradesh has NOT been selected for
development under the Smart City
Development Programme of the Central
Government ?
(a) Lucknow

(c) Ghaziabad

(b) Allahabad
(d) Kanpur

What is the current Total Fertility
Rate (TFR) of India according to the
National Family Health Survey (NFHS)
(2015-186) ?
(a) 2.2
(c) 3.2

(b) 2.4
(d) 3.4

Which of the following committees was
set up in India for identification of BPL
families in Urban Areas ?
(a) Tendulkar Committee
(b) Saxena Committee
( ) Lakdawala Committee

(d) Hashim Committee

According to the India State of Forest
Report, 2017, what percentage of total
geographical area of the country is
under forest ?

(a) 20.34
(c) 21.54

(b) 22.34
(d) 23.54

78.

9.

80.

81.

82.

TR 0 O

efafEd U 4 ®HE-81 L T/ G=rEd
T ST ST § 7

(a) TFI=

(b) S-TSRT

(c) TUHEE RRSE 2

Jey” 374 F 9 g

I 3 F=Tdfad ur= 991 gene 8§

a1 g 2 iy gty o ?

(a) 91 (b) 10T

(c) 113 (d) 12T

I 92T = AEtiiad T 3 o e wd

(8.‘1 SIEEE) (b) si" 1 o G
(c) TsEERE  (d) FHEE

T TEE SR G (NFHS) (2015 — 16)
¥ FET 300 ° 9RA B FE T @

(a) 2.2 (b) 2.4
(c) 32 (d) 3.4
Rd § TR rr*-mmqa afEm it

=T wrnm REan g HHA-damf

2T J1F wREe duid 2017 &
m.%ﬂ%%%ﬁﬁm?ﬁmaﬂ
Toraan wfawrarer 941 % Aaia § ?

(a) 20.34 (b) 22.34
(c) 21.54 (d) 23.54

http://www.develepindiagroup.co.in/
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83.

84.

85.

86.

88.

89.

90.

When was ‘Project Tiger' launched in
India ?

(a) 1968 (b)
(c) 1984

1972
(d) 1993

Which of the following is an example o
anthropogenic biome ?

(@) Fresh water (b) Grassland

(c) Rainforest (d) Cropland

Which of the following animals can e
for the longest duration without drinking
water ?

(a) Giraffe (b) Came

(c) Kangaroo (d) Kangaroo rz
India’s first National Centre for Marine
Biodiversity (NCMB) is located in which
city ?

(a) Bhavnagar b) Jamnagar

(c) Mumbai d) Puduchem
ia- ‘."',_ Dec : )

(b) Goiden Oricie

(c) Yelio == Waer

(d) Hangu ashrmir Stag

When the Worid Biodiversity Day is
observed ?

(@) March, 22 D) May, 22

() June, 23 d) Apri, 16

Which of the following is concemed with
soil ?

(a) Edaphic b) Cimatic

(c) Biotic d) Topograph v

is found in which of
(@) Troposphers
(c) Stratosphere

http:;/www.

<
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53"\ R H SITE GTE ST el 3% <l AT 2

2y 19687 (b) 1972%H
(c) 1984 F (d) 1993 H

84. Fr=Afctiad H 1 wasia shas 1w
3RS 7
(a) oA (b) =G & HeM
(c) =§iad (d) wae iy

8% Freaffan § am-T1 S o o 9

ol 31af o W Hkar & ?

(a) Tomm® /uy;/m
(c) HT® (d) =R <RI

86. 9T H1 J9H 43d YT ®TT AOA
FRERAre (T.H T . ) fore wee
feag?r .
(a) WETRH (b) ST

() Hras & (d) ggaaH
87. =i U= 3ed Fefafaa § o frad
rEfad g ?
(2) e AT
(b) Tieed aTfE
(c) IAT-UIeE AT
(d) I AT IR T

88. Tava Sig fafaftran feoq s g S 2 7

(a) A, 22 (b) WS, 22
(c) 3,23 (d) =, 16
89. TAffed o i g1 & wraf=a & 7
(a) 3Sfthen (b) FATSHICH
(c) IfeH (d) <

00. = ° ¥ T o f walftes iz
e g ? .
a) ZAFHRR

. ( 2 (b) ﬁ?hm?lmﬁ%
eQel_gpind?)agzi?oup.co(fiin? |
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91.

92.

93.

94.

95.

96.

As a result of global warming the
frequency and Severety of which of the

Wwarming ?

(@) Cyclones only
(b) Storms only

(c) Hurricanes only
(d) All of the above

Which of the following is NQOT an example
of in-sity Conservation Strategy ?

(a) Biosphere reserve

(b) Botenicaj garden

(¢) Nationa| Park

(d) Sacreq groves

Ultra-violet radiation from gyn light | 93.
Causes the reaction that produce which

of the following 7

(@ co

(b) SO,

(c) O,

(d) Fluorides

Norman Borlaug was given Nobel Prize | 94.
in which fie|d ?

(a) Agriculture (b) Economics

(c) Medicine (d) Peace

Which of the following paris is NOT | 95.

correctly matcheq 2

(a) Renneting-Cheese

(b) Genetic Engineering-Plasmids
(¢) Golden rice-Vitamin A

(d) Ozone iayer—Troposphere

Which of the following pairs is NOT
correctly matched 2

(a) Bandipur Nationa] Park-Karnataka
(b) Manas Wildlife Sanctuary-Assam
(¢) Periyar Wildlife Sanctuary-Kerala
(d) Simlipal Nationa] Park-Madhya

96.

(b) F7Efras amy

(€) T 3

(d) 957 3qe
@%m@m—wmaﬂ%
ﬁmﬁﬁwﬁaaﬂaﬁ%?

() =74 TrremEe

(b) HTH TR AR

(c) Tt

(d) ey :
THT S ﬁ%@rcﬁaﬁﬁéagrw
NETH faar may 7
(a) (b) refamey

(c) fufy (d) wmfx
ﬁ%%a?ﬁﬁﬁqw@%aﬁ%?
(a) EfEm-ua

(b) %W—W@:{Q

(©) o7 T~ fyarfig o

(d) ST vE- gy
ﬁw%%a@n‘fﬁﬁwﬁ@%aﬁj%?
(a) TG T Fer -t

(b) Wawaﬁaaﬂmma-m

() &ﬁanawaﬁammméﬂa

Pradesh . il
r(:ttp://www.deve_ggplnﬁa@%ﬁ%ﬁn ney
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97. According to J.V. Narlikar which of { 97.) f=fiifieg § v 3. ot Tctie o STTER

the following has so far NOT been 1t o o T g ST R 7
considered as a science ? sy
(a) Astrology AR
(b) Astronomy (b) )
(c) Cosmology (c) serifesht
(d) Nanotechnology (d) STrenfiERy
98.  Which of the following was invented by | 98, f=ferfag 3 frges TR forereen
Wilhelm Roentgen ? T2oH g1 T gy 2
(a) Radio (a) e
(b) X-Ray Machine (b) TFE-1 =
(c) Electric Bulb (c) <Rl STedl
(d) None of the above (d) IHIRE T HIS Tl
99. Double-helical structure of DNA was gg\,é'}qq . 3 fegrelorht e e grr )

given by whom ? ~— mgeft?
(a) Jacob and Monod (a) Sied qum HAE
(b) Watson and Crick q1eHT a1 foheh
(c) H.G. Khorana (c) . Sft.
(d) None of the above (d) 39U F A A e

100.  Which of the following electro magnesic 100, forga greehia fafeon & @
radiations has the maximum energy 2 Jﬁgﬁmmaﬁ% ?
(a) Visible light (a) T TR
(b) Infrared rays (b) 27eRH fortl
(c) Ultraviolet rays (c) I ool
(d) X-rays ety X-fepeoi

101.  Methane is emitted from which of e 101, A i 3 @ e Preerd @ sy
following ? AR ?
(a) Paddy fields only (a) FIA-9H & Ta1 Y
(b) Termitary only (b) I Sk i wm=t A
(c) Both from (a) and (b) (c) (a) 3R (b)SHi@
(d) None of the above (d) 3Rk T foreh & e

102. Which of the following elements i< = {;CE Frefeiaa qedl § 9 ard=nes £ 7
semi conductor ? e
(@) Aluminium  (b) Silicon (a) eFegffEm «("5{ ferferehT
(c) Silver (d) Lead (c) =fet (d) i

A http://www.developindiagroup.co.in/
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103. How many types of justice, liberty,
equality and fraternity in that order has
been mentioned in the preamble of
constitution of India ?

(@) 3,5,2,1 (b) 1,3,5,2
[€) 2531 (d) 5,2,1,3

Who was the UPA candidate for the
2017 Presidential election ?

(a) Ms. Meira Kumar

(b) Mr. Gopal Krishna Gandhi

(c) Dr. Karan Singh

(d) None of the above

104,

Who was the first Vice-Chairman of the
NITI Ayog ?

(@) Arvind Panagariya

(b) Raghuram Rajan

(¢) Chandrashekhara Subramanyam
(d) Rajiv Kumar

105.

106. Which of the following is the first State in
India formed on the basis of languages ?
(@) Kerala

(b) Madhya Pradesh

(c) Andhra Pradesh

(d) Uttar Pradesh

107.  Which of the following is an extra-
constitutional agency ?

(@) Union Public Service Commission
(b) Finance Commission

(c) Election Commission

(d) NITI Ayog

108. The recommendations of Sarkaria

Commission relate to which of the

following ?

(a) Distribution of revenue

(b) Power and functions of the
President

(c) Membership of Parliament

(d)

Centre-State relations

A http://www.develop

.Illlllyllllllﬂllll T

WA % BITUH i Seamam 3§ fray gmw
?ﬂm,m,mq&maﬂa‘m
FOH I5E T 7

(@) 3,5,2,1 (b) 1,3,5,2

(c) 2,5,3, 1 }da/s,z,ns

2017 % TrZafa a4, 1., % 3t
EC i

Aa) GHL AR AR

(b) 1. TTuTE T e

(c)

(d)

Hifa a3 =1 vum surey
FH 97 7

(a) == Tiea

(b) U= 7=

(c) T=3reX gIgHH

(d) TS FAR

ﬁtr%ﬁgaﬁﬁw—mmﬁmm%aﬂw
W YgAT 9 97 7
(a) ExG|

(b) HET yewT

G
107.) fr=fefiga 9 v ofyarm gen d 7
(a) |9 s AT =
(b) Torr aqmImy
(c) Tafea smm
(@) Hifaq smEm
TR AT Y Hegloan Fefafad §
Tred a=fRE 2 7
(a) TSEE =7 famo
(b) Tzt < wiferran e st
(c) Tue i gaar

indi AgrSap esin/

S

¥ T
—~

SYET | =I5 48]

105. (3Tgumfe)

108.
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1089,

110.

111.

112

113.

114.

A

.(c) 90days

The Parliamentary form of Government
was first introduce in which country ?
(@) Great Britain (UK)

(b) Belgium

(c) France

(d) Switzerland

The Councilof States has exclusive powers

in relation to which of the following ?

(@) To initiate proceedings for the
removal of the President

(b) To initiate proceedings for the

removal of a judges of the Supreme

Court

To recommend creation of a new

All Indiz Service

None of the above

(c)

(d)

In which Part of the Constitution of
India we find the provisions relating fo
citizenship ?
(@) Partl

(c) Partvi

(b) Partil
(d) PartiX

Parliament can Amend the provision
on official language of India under the
Constitution by

(@) a simple majority of its members
(b) 2/3™ majority

(c) 3/4™ majority

(d) support of 1/3 of its members

After how many days of absence from
Parliament without permission can 2
M.P. be disqualified ?

(a) 30 days (b) 60 days

(d) 120 days

Who among the following Govermnor
Generals ridiculed congress as
representing only a ‘microscopic minority’
of people ?

(@) Lord Dufferin

(b) Lord Curzon

(c) Lord Minto

(d) Lord Lansdown

GCTWY - 01

109. HAYYH THSHS TR 56 291 T a1y
& TRf 7

e R (2.3
0 S
wE
& v
~ Tttt 4 @ foras dau A tsa @
AT ARFR R 7
(a) TSl <l STURES HA R HraTel
FE

Ire|
(b) HaT= =TT % =Ry i 3Tyeey
A oG HRIaTE] HET
(c) T T TS T Fa 3 gom ¥

T
(97 ST R T
mw%#ﬁwﬁﬁamﬁmw&m
o FeIft yeaEl B aw # 7
(a) 9T (b) T I
(c) «m VIl ((d‘)"‘l-‘lFTIX
%W@%mﬁﬁwﬁﬁwﬁmw
7 IS T § Goe G 9 g 2
(2) 379 G & WU wgAd g
M) 2/3 SgHd 5
(c) 3/4 SEHA g
(d) 19 1/3 Ge=l % Tmedq 3Ry
3. fomm argafa & fray fom doe @ srgfem

T W T gue @ o wifva fear s
gFHarg ?
(a) 30T (b) 60 fea
(c) 90feT - 120 T

e, = el Sl § O R whm =
v ‘TR sreudEEE @nl w1 gt
T et hEshl IURTY T o7 ?

(a) 1S THIHA

(b) TS FHeiA

(c) = fifay
e AESEA

http://www.develo;p.indi‘gjgroup.co.in/
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115.

116.

117.

118.

119.

A

@

AT 00
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What is Dhing Express ?

(@) Train between Dhing and Kolkata
(b) Nickname of Hima Das

(c) Express way between Palwal and
Kundli

Popular Magazine

Mary Kom has recently (Sept. 2018)
been made brand ambassador of which
of the following ?

(@) Swachcha Bharat

(b) BSNL

(c) Beti Bachao Beti Padhao

(d) Project Khel

Supreme Courts judgement regarding
homosexuality is related to which of the
following ?

(@) Section 377 of IPC

(b) Article 377 of the Indian Constitution
(c) Article 277 of the Indian Constitution
(d) None of the above

Supersonic Cruise Missile BrahMos is
joint venture of which of the following ?
(@) Indian and Russia

(b) India and China

(c) India and Israel

(d) None of the above

Andrez Manuel Lopez Obrador is
President elected in July 2018 of which
of the following country ?

(@) Venezuela (b) Argentina

(c) Mexico (d) Nicaragua

/A
\11/7.

118.

119.

115,

ST EEIE TR 7

(a) <7 YT FIAFEI & AL Tl
(b) T&mm =@ =1 desien 1

(c) Yoi=a AU FUSe! & o9 THEdE A
(d) == g

= = e € d (faasr 2018)
T ¥ a1 9178 GREE ST T R 7
(@) ¥=== 9Hd &l

(b) S1.TE.TR.TH. H

(d) TE=EFH

o 1A S gat=l e = Tl

USS 390E TS STER e 2018
=1 5 2 Torm w1 % g Faffa g ?
(@) Fs[Ea (b) IFSifeT

(c) HfFge (d) Frrmren
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120.

121.

122.

1283.

124.

A

http://www.deve

On the basis of Panama Papers, the
Prime Minister of which of the following
countries was sentenced to 10 years in
jail for corruption ?

(a) Maldives

(b) Trinidad

(c) Pakistan

(d) None of the above

As per draft National Register of

Citizen (NRC) of July 2018, which of

the following States more than 40 lakh
illegal migranis were found ?

(a) Nagaland (b) Mizoram

(c) Assam (d) Tripura

Who of the following inaugurated
SAFAR (System of Air Quality and
Weather Forecasting) in July 2018 7
(a) Rawvishankar Prasad

(b) Piyush Goyal

(c) Dr. Harshvardhan

(d) None of the

As per report released by U.S. Jounz!,
‘SCIENCE’ on 261 July, 2018, a massive
underground lake has been deteciad on
which planet ?
(a) Jupiter
(c) Venus

(b) Satumn
(d) Mars

RAttp://www.c

GCTWY - 01

pindiagroup.co.in/
128\ T Y9 & STMUR W, YR & oy
frefefaa 2 # s gummsht =1
10 9§ i <h gei &1 TR 7

(a) HIEEH

(b) Bifere
/(g)rm%ﬁrm

(d) IUh T g T

YT 2018 T WefTd e et o1f
I (NRC) & g9 & 7ER fohl T4
T 40 @@ ¥ 317 1oy Tl R TR E ?
(a) ATUS (b) Tosim

(c) @rEm (d) B

g 2018 ¥ fm § | foreeh g0 ww
1Y TUTeR U HIEH JaTgAT JOrTefl) s
ECCIEC I E | R DI

(a) TR yoTE

(b) Tog M

(c) . g¥agq

opin iagroup.co.in/
UfeRt, foM (SCIENCE) /1
26 T8 2018 ! T Tuld o 3T7aR T

121.

lev
123.

Toremer qfeTa sfiet st v forer 718 W=
g7

(a) eI ™
(c) YH W

(b) IH®
(d) T W

American President Donald Trump met T%224.  3THTERT & Tseufd ST 280 7 ST I

North Korean leader Kim Jong on 12
June, 2018 in which country ?

(a) Malaysia
(c) Singapore

(b) Indonesia
(d) Thailand

Jar R S & 12 57 2018 i TR <
3 TR i ?
(a) FERmEH /{sr—eﬁ%rﬁmﬁ
(c) Tommged (d) wr$eed
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125. Match List — I with List — Il and select | 125. q\zﬁq@q\aﬁ_uﬁgﬁﬁaﬁﬁqnﬂ%
the correct answer from the codes given few 2 & =& 3 1 = i |
below. n !—'ﬁﬁ

: . g1 -1 -1

List -1 List -1l . 3
(Samudra Gupta’s (Their Kingdoms) (EETUT ,E ng ( )

Contemporary Kings “”a;_ i )
of South India) A G759 1. =g
A. Dhananjaya 1. Avamukta B. Hies 2. &l
B. Nilaraja 2. Kanchi C. 3=+ 3. FHAR
C. Ugrasena 3. Kusthalpura D. fawpim 4. TSR]
D. Vishnugopa 4. Palaka
Re:

Code :

A B CD A ? ¢ s
@ 1 2 3 4 (@ 1 2 3 4
by 2 1 4 3 ) 2 1 4 3
¢ 3 1 4 2 gy 3 % '#& 2
(d 4 3 .2 1 d g B 3 :

http://www.develo%ﬁn liagroup.co.in/

126. Which of the following centres related | 126 7;’:.-—1_ gl A EE NI FRH-A 5
to Indus Valley are situated in Uttar SHRn A RaE?

Pradesh ? N py oD
Select the correct answer from the qﬂamm—_ My b :
codes given below : . S

I. Kalibanga Il. <=

Il. Lothal . ATTHIRY

. Alamgirpur IV. &9

IV. Hulas | “

i=ncleuR ﬁl i1, 1, v
@ 1, I, 11, 1v @ 1§ 1, u,

(b) I, I (b) L1

(c) I, N (c) I, 1

d n, v (d) 1, Iv

127. Which of the following institutions | 127. ﬁnﬁ@ra—ﬁq-ﬁg@nﬁéﬁﬁmﬁﬂaﬁa
belonged to foreign trade ? off ?

(a) Sr_en_i | (b) Nags.:lram (a) avﬁ (b) TTH
(c) Nanadesis (d) Manigrama .(c) THTRRT (d
A http://www.develapindiagroup.co. R/
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128.

129,

130.

Given below are two statements. one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Many Sanskrit works
on music were translated into Persian
during the medieval period.
Reason (R) : The early chisti sufis were
fond of musical assemblies calle
‘sama’.

~
J

Select the correct answer from the
codes given below :

Codes :

(a) Both (A) and (R) are true and (R
is the correct explanation of (A ;

(b) Both (A)and (R) are true, but (R) is
not the correct explanation of (A

(c) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true

Which of the following inscriptions ves

the information about two Ashwameda |

Yajnas performed by the King Pushyamiira
Shung ?

(a) Saranath inscription

(b) Besnagar inscription

(¢) Ayodhya inscription

(d) Hathigumpha inscription

)

The term ‘chakla’ has been used
Medieval Indian History sources. Tr
was

(a) Identical to Paragnah

(b) Identical to Sarkar

n

GduUall

and Paragnah, but not identical 1o
Sarkar
(d) None of the above

(¢) Territorial unit between Subah j

GCTWY - 01

128, e U E | uh $r he (A) qen

T8 %! AT (R) 1 TR |
U (A) : HEIHTA T i o Ep & foreh
T 3o JcTen Bl el 3 Sigag fokam v |
&R (R) : AR ol gt g o
AT, oI T gt St o, FER & |
et o 21 H & et 3 B = iR |
e
(a) YT (A) TUTHRYT (R) B T & qe
FHRT (R) o (A) i Ut e & |
(b) S (A) TSRO (R) ST e & g
T (R) T (A) i mear T2 & |
(c) M (A) HEl 7, Tohg =0T (R) T |
(d) R (A) TeTd &, Tohg T (R) BT Y |

. T 3 T ) srvEie aw Y S

ﬁrﬂmﬂmé@ﬁﬁwﬁ%?
(a) RIS oG
by SR TR
(c) ST v
(d) ST oG

j nmﬁm%ﬁﬁmﬁ%aﬁﬁw

1SS 1 YA §AT R | 98

(a) YU % GurEre o

(b) HTRR % THTT o

() T SR W % sfter <Y & Senrd
o, s TR % wamreff 72 o |

yywﬁf@ﬁﬁﬁaﬁéﬁqﬁ
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131.

132.

133.

134.

135:

&

The Maratha claim of revenue for
protection is known by what name ?
(a) Sardesh Mukhi (b) Chauth

(c) Abwab (d) Jamadani

The mosque-the Khayr-ul-manzil
opposite to the Purana Qila in Delhi was
constituted by whom ?

(a) Hamida Banu Begum

(b) Salima Sultan

(c) Jiji Anga
(d) Maham Pﬁ

Which of the following pairs is NOT
correctly matched ?

Place Leadership
(a) Sambhalpur Surender Sahi
(b) Ganjam Radhakrishna
Dandsena
(c) Kashmir Gulab Singh
(d) Lucknow Liyagat Ali

Which of the following pairs is NOT
correctly matched ?

State Ruler
(a) Devgiri Shankar Dev
(b) Warangal Ramchandra
Dev
(c) Hoysal Veer Ballal
(d) Madura Veer Pandya

Arrange the following into chronological
order and select the correct answer
from the codes given below :

A. Muhammad Shah

B. Jahandar Shah

C. Alamgir Il

D. Ahmadshah

~Codes :

@ A CD B
() B A D C
(¢ C A B D

@D BC A

RO R

131, TRE % foTe T3] & Ui o aral ol Tl

m@rsgmaag%? e

(a) TEW (b) ="

(c) o= (d) SR
faceft & g forem o o e el
e Hitse =1 o fores s an ?
(a) THET I I

(b) HAH GedH

(c) Sfrsit 3w

132.

¥%p://www.deyvelofindiagroup.co.in/

133, Fefafed gai S wH T8l gema Tai & 7

T 9=

(a) TIAR =i e

(b) TSIH T 2USH

(c) =9HR T R

(d) TETS == ==
134. ﬁmﬁf@ﬁa"ﬁﬁaﬁ?ﬁg;?f =ie?

T EE

(a) <affd BEzc|

(b) I TE=

(c) ErFEw =1 S

(d) @gu EERILSRl
135. Tr=fafas = =gz 3 Aafea shifsg

AR T T2 7 F2 F 98 IR w

Shifse |

A. H@?ﬂ?:,|r

B. SRRH ¥’

C. Il

D. 3EHE IR

e

(@ A C D B

() B AD C

6 C AB D

(d) B C A

u (0)

http://www.develo,pindiag?o p.co.in/
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136.

137.

138.

139,

140.

141.

Which of the following States of India
has the longest coastline ?

(@) Maharashtra

(b) Andhra Pradesh

(c) Kerala

(d) Gujarat

Which of the following rivers of
Uttar Pradesh has been declared a
‘Biological Disaster due to environmental
pollution ?
(@) Yamuna
(c) Sai

(b) Gomati
(d) Tamsa

In which of the following hills the world
famous temple of Lord Venkateshwar
(Tirupati) is located ?

(a) Shevaroy (b) Biligiriranga
(c) Javadhee (d) Mallmalla

Rajasthan desert or Thar desert is the
expanse of which of the following ?
(@) Pliocene

(b) Paleocene

(c) Pleistocene and recent deposits
(d) Oligocene

Which of the following rivers of India
does NOT originate from the Western
Ghats ?

(@) Godavari
(c) Kaveri

(b) Tapti/Tapi
(d) Kabam

The development of the concept of

‘Global Village’ is based on

(a) Social development

(b) Political development

(c) Transport and Communication
Development

(d) International organisations

137.

138.

139.

140.

141.

GCTWY - 01

I o Feferiad ol § & frohl wetan
el ol B 7

%) shra

(c) &

Ady TR

IR g it Fferfaa afen o oy
TATROT SN0 o FHROT Sefleh 19T Hifia
AR ?

(a) I (b) Tl

(c) @3 (d) =T

Terea i, sywram depeva (fomeafer) sty
frfefaa weifeat # foru safem @ 7
(a) YRE (b) Terefifiricm

(c) Strare (d) HeoiHed

ST HEXT 37edT IR Heeel eferfag
T foperen faear € 7

(a) wfteTiE

(b) Afernei=

(c) wirH wd i s

(d) 3nfermeE=

AR <l FreferRae wfea) ¥ o uftdf o
o 7 e 2 ? !

(a) TMemEd (b) et /e

(c) T (d) Ham

“Sfvaeh i’ < wereu o e s &
(a) @SR faerrg

(b) T fara

(c) vﬁazqqa‘ziananﬁm
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142. Which of the following countries has the
maximum production of milk per cow ?
(a) Netherlands (b) Great Britain
(c) Denmark (d) India

143. Which of the following districts of Uttar
Pradesh has the lowest female Iiterac;y
rate as per 2011 census ?

(a) Rampur (b) Balrampur

(c) Shrawasti (d) Bahraich

144. The Sultana, Gulabi and Kali Champa
varieties in different regions of India are
varieties of which of the following major
fruits ?

(a) Custard Apple (b) Orange

"(c) Guava (d) Grapes

145. Which of the following States is the
largest producer of cardamom and
pepper in India ?
(a) Tamil Nadu

(c) Kerala

(b) Goa
(d) Maharashtra

146. Match List—1and List - Il and select the
correct answer using the codes given

below the list :

List -1
States

List—1I
Highest Peak
A. Kerala 1. Dodda Betta
B. Nagaland 2. Nand Devi
C. Uttarakhand 3. Anai Mudi
D. Tamil Nadu 4. Saramati

G

n
N A Wwm
WA RO

D
2
1
1
4

142, Frafafaa 3 # fead wfa 3 g =
3Ed e IcTeT Tartys & ?

(a) fieevgg  (b) U2 A
/ce)‘ ECtICa (d) 9a

2011 1 FAUMAT & FTEE IH T &
sH9el ® forgd ofEen geman
WAETYFHL 7

(@) THE (b) F=THAH
(c) Hreril M) FEEE

144.") 9@ & f3fe= &= 1§ 3earfes =1, Tl
$rfra § 7
(a) THI®I (b) =7
(c) ITER ) FE
ﬁm%ﬁaarmﬁﬁﬁqs. == T el

F1 g FS1 3T =

Jay dfeTg (b) =
(c) (d) T=

(@)
(b)
()
(d)

I
N AW
WA RO

A http://www.developindiagroup.co.in/
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147.

148.

149.

150.

Which of the following countries is the
leading producer of lodine in the world ?
(a) Japan (b) U.S.A.
(c) Chile (d) China

According to 2011 census, which of the
following states has the lowest child
sex-ratio both in Rural and Urban areas ?
(a) Uttar Pradesh

(b) Kerala

(c) Haryana

(d) Jammu and Kashmir

According to 2011 census, which of the
following states has the largest rural
population ?

(a) Madhya Pradesh

(b) Maharashtra

(c) Punjab

(d) Uttar Pradesh

Consider the following events.

1. First reptiles
2. Firstinsects
3. Shelled animals
4. First mammals.

Arrange the above eventis in
Chronological order of their origin on
the earth and select the correct answer
from the codes given below :

Codes :

@2 1 3 4
(b) 2 3 1 4
€ 3 2 1 4
(d) 2 4 1 3

147.

148.

149.

150.

GCTWY - 01

Freafefiaa et ° i -o1 fava 1 sl
1 ST IcqTEh 8 7

(a) S (b) H. T SRE
(c) Taet (d) ==

2011 1 SFUET % AgER, FEfafad
T B fered oo we wed S &l |
vy fom Srgurd =g & 7 ‘
(a) I e

(b) A

(c) BT

(d) S Td TR

2011 & ST o SR Freffea =i
T feraeht amfior SEE gaffess § 7
(a) T WeW

(b) HERT

ORELE]

(d) ST

e Terett W feem i
1. gl wigd

2. U hic

3. SHa=EaTd Sa

4. YEeT FA9

IUUh TS %l geeft 0 37 IcUH B h
FITHAIIR HafEa Hifsrg Tom = few
Fi § 8 Fell I A1 =95 FHW

%<
(@) 2
(b) 2
(c) 3

3
0
1
(d) 2 1

BN W =
w bbb
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